CURIOSA IN 1967

CHARLES W. TRIGG
San Diego, California

A) 1967 = (-1 +9+6-7(19% -7+91 -6+ 7)
= .12 + (34)(56) + 78 - V9
= 0 + 11 +2(31)@) + (5)(6)(7N(8) - VI
= 920 491 4 92 493 4 95 4 9T 1 98 1 99 4 ol0

I

(B) 1967y = 117E;, = 1529y = 26259 = 36573 = 55104 = 13035,
‘= 30332; = 132233, = 2200212
= 11110101111, a palindrome.

(C) (11916 71)(1r9t6: M) = 0, where !x is subfactorial x.

(D) Expressed in Fibonacci numbers:
1967 = 1 - 8 + 377 + 1597
1597 + 377 -5 -2
1+ 13+ 34 + 89 + 233 + 1597
1+2+3+8+13+21+ 34+ 55+ 89 + 144 + 233 + 377 + 987

1l

1l

(E) Four squares can be formed from the digits of 1967, namely: 196, 169,

961, and 16, which latter also is a fourth power.

1967 = (42 - 32)(5% + 162)
= 144% - 1372 = 9842 - 9832
= 12+ 22+ 32+ 42 + 52 + 62 + 82 + 92 + 102 + 112 + 122
+ 142 + 152 + 162 + 172 + 202

(F) 1967 = (1111 - 111 - 11)(1 +1) - 11
= 20%. 224 2072R/2 _ 99
= (3+3)(333) - 33+ 3 - 3/3
= 4V L4 +VE) - 44

= (555 - 5/5)(5 - 5/5) - 5(55 - 5) + 5/5

= (666 +6/6)(6 + 6 +6)/6 - 6(6) + (6 +6)/6 .
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1l

TI7+ 77T+ 7) + (177 + 7/ 7
(888 + 88+ 8-8/8)(8 +8)/8 +8/8
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(999 -V9)(9 +9)/9 - 9V9 + (9 +9)/9

(G) Here are several ways in which 1967 can be written using conventional

mathematical symbols andone 1, nine 9's, six 6's, and seven

from left to right,

1967 = 19(99 + 999/999) + 66 + 66/66 + T(7T77 - 77
19(99 + 999/999) + 66(66/66) + 71TV
19(99 + 999/999) + 6(66/6 - 6/6) + T(T77/7
1(999 + 9/9) + 9(99 +V3 - 6/6 - 6/6)

+6(6 - 7+77/7)+ 77/7)

1l

I

(H) If to 1967 its reversal is added, and the process repeated
several times, a palindromic number is produced in five

operations.

() 7691 - 1967
7992 - 2997

five subtractions.

i

5724, 5724 - 4275
4995, 5994 - 4995

1449, 9441 - 1449 =

I
1t

T's in order

7)

77)

1967
7691
9658
8569
18227
72281
90508
80509
171017
710171
881188

7992,

99, a palindromic number after

(7) If the digits of 1967 be written in descending order before reversal and

subtraction and the process be repeated continuously:

I
i

9761 - 1679 8082, 8820 - 0288 8632,

6174,

8532 - 2358

il

6174, 7641 - 1467

Thus Kaprekar's constant 6174 is reached in three operations.
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The circulant

17

6 9‘ divides

i

76 ‘ divides

1967
9996
6999
76 91

196
900
600
76 9
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1967
7196

= .92
617109 34(23)(29) .
9671
1967
PO TS thatis, SG12 _ 4y
6769]|° © 30D .
7691
1967
prie that is, 2ALA9) _ g4
6119/ e N .
7691
1967 1967
9666 . 9776

= = 2
6669l FE. | o= 1) .
7691 7691
7 1967
6| _ 45, (9670] _ o
9 6700
1 7000

* % * K

(Continued from p. 473,)

Of the twenty-four four-digit numbers that can be written with the digits

of 1967, seven are prime:

1697, 6197, 6719, 6791, 6917, 6971, and 7691 .

(F)

19

6 7| = 47

* h & K



